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SECTION A (8 points)

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

1: Don’t forget to drop me a line when you’re away

A. telephone me
B. call me
C. write to me
D. send me a telegram

2: Fruit and vegetables grew in abundance on the island. The islanders even exported the
surplus.

A. excess
B. large quantity
C. small quantity
D. sufficiency
3: There is growing concern about the way man has destroyed the environment.

A. attraction
B. consideration
C. ease
D. speculation
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

4: A. energy 

B. gain 
C. gesture 
D. village 

5: A. population 
B. nation 
C. question 
D. station

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

 6: A. compete 
B. finish 
C. expect 
D. invent 

 7: A. develop 
B. attractive 
C. advertise 
D. construction 

 8: A. community 
B. particular 
C. authority 
D. mathematics 

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer that best completes each unfinished sentence  

9: We are going to …………….

A. get our house being redecorated
B. have our house be redecorated

C. have our house to be redecorated
D. have our house redecorated
10: So little………….about mathematics that the lecture was completely beyond me.
A. I have known
B. I knew
C. do I know
D. did I know

11: His letter is full of mistakes. He …………………..  the mistakes carefully before sending it.

A. must have checked
B. should have  6.﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽﷽checked
C. can have checked
D. could have checked

12: Light ……………. faster than sound.

A. travel
B. travels
C. is travelling
D. travelled

13: He found…………………………….to answer all the questions within the time given.

A. it impossibly
B. it impossible
C. that impossibly
D. that impossible
14: Tom: “The maintenance people didn’t remove the chairs from ballroom.”

                  Mary:  “Don’t worry. They …………them before the dance begins.”

A. will have moved
B. moved
C. will have been moved
D. were moved

15: I really regret …………………your feeling when I asked you such a silly question.

A. to hurt
B. hurt
C. hurts
D. hurting

16: “Is the lift is working?” – “No , it’s .................Let’s use the stairs.”

A. out of work
B. out of order
C. impossible
D. in danger
17: Have you ever read ________ "Oliver Twist", ________ interesting novel written by Charles Dickens?

A.  the / the 

B. Ø / an 


C. Ø / Ø 


D. an / the

18: I'm sorry! I didn't break that vase on............

A. time
B. purpose
C. intention
D. my mind

19: Maria: “I’m taking my end-of-term examination tomorrow.”       

Sarah: “.................”

A. Good luck
B. Good chance
C. Good day
D. Good time

20: The girls and flowers …………. he painted were vivid.

A. whose
B. that
C. which
D. who

21: Women's employment rate is getting …………

A.high and high
B. higher and higher
C. more and more high 
D. higher and  the highest
22: Gold………. in California in the 19th century.

A. has been discovered
B. was discover
C. they discovered
D. was discovered

23: Laura: “What a lovely house you have!”
Mary: “……………….”

A. Thank you. Hope you will drop in.
B. No problem

C. Of course not, It’s not costly
D. Thanks. I think so

24: Would John be angry if I ………………..his bicycle without asking?

A. had taken
B. take
C. took
D. would take

25: Although he was ………………………………… , he agreed to play tennis with me.

A. exhaustive
B. exhausting
C. exhausted
D. exhaustion

26: He is very worried ……… his new job because he is not quite prepared …………working.

A. about / for
B. in / at
C. to / off
D. on / over
27: I like ________ books better than ________ films.

A. Ø / Ø 


B. the / the 
 
C.  Ø / the 

D. the / Ø
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 28 to 37.
There are a (28) _____ of causes that can contribute directly or indirectly (29) _____ the extinction of a species or group of species. Just as each species is unique, and (30) _____ is each extinction. The causes for each are varied – some subtle and complex, others obvious and simple. Most simply, any species that is unable to (31) _____ or reproduce in its environment, and unable to move to a new environment where it can do so, will (32) _____ out and become extinct. Extinction of a species may come suddenly when a healthy species is wiped out completely, as when toxic pollution makes its entire (33) _____ unlivable; or may occur gradually over thousands or millions of years, such as when a species gradually loses out in (34) _____ for food to better adapted competitors.

The question of whether more extinction in the fossil record have been caused by evolution or by catastrophe is a subject of discussion. When talking about species extinction has been raised, most expert concern with the (35) _____ of climate change and technological disasters. Currently, environmental groups and some governments are concerned (36) _____ the extinction of species caused by human beings, and are attempting to combat further extinctions through a variety of conservation programs. Humans can cause extinction of a species through overharvesting, (37) _____, habitat destruction, introduction of new predators and food competitors, overhunting, and other influences. 

28. A. popularity 

B. differences 

C. variety 

D. many

29. A. to 


B. for 


C. with 

D. at

30. A. otherwise 

B. so 


C. but 


D. or

31. A. damage 

B. deforest 

C. disappear 

D. survive

32. A. go  


B. put 


C. die 


D. take

33. A. nature 


B. reserve 

C. diversity 

D. habitat

34. A. compete 

B. competition 
C. competitor 
   
D. competitive

35. A. effects 


B. efforts 

C. destructions
   
D. punishment

36. A. for 


B. at 


C. about 

D. against

37. A. pollution 

B. planting 

C. raising 

D. agriculture

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 38 to 47.

Although they are an inexpensive supplier of vitamins, minerals, and high-quality protein, eggs also contain a high level of blood cholesterol, one of the major causes of heart diseases. One egg yolk, in fact, contains a little more than two-thirds of the suggested daily cholesterol limit. This knowledge has driven egg sales to plummet in recent years, which in turn has brought about the development of several alternatives to eating regular eggs. One alternative is to eat substitute eggs. These egg substitutes are not really eggs, but they look somewhat like eggs when they are cooked. They have the advantage of having low cholesterol rates, and they can be scrambled or used in baking. One disadvantage, however, is that they are not good for frying, poaching, or boiling. A second alternative to regular eggs is a new type of egg, sometimes called ‘designer’ eggs. These eggs are produced by hens that are fed low-flat diets consisting of ingredients such as canola oil, flax, and rice bran. In spite of their diet, however, these hens produce eggs that contain the same amount of cholesterol as regular eggs. Yet, the producers of these eggs claim that eating their eggs will not raise the blood cholesterol in humans.

Egg producers claim that their product has been portrayed unfairly. They cite scientific studies to back up their claim. And, in fact, studies on the relationship between eggs and human cholesterol levels have brought mixed result. It may be that it is not the type of eggs that is the main determinant of cholesterol but the person who is eating the eggs. Some people may be more sensitive to cholesterol derived from food than other people. In fact, there is evidence that certain dietary fats stimulate the body’s production of blood cholesterol. Consequently, while it still makes sense to limit one’s intake of eggs, even designer eggs, it seems that doing this without regulating dietary fat will probably not help reduce the blood cholesterol level.

38. What is the main purpose of the passage?
A.     To introduce the idea that dietary at increases the blood cholesterol level

B.     To make people know about the relationship between eggs and cholesterol

C.    To persuade people that eggs are unhealthy and should not be eaten

D.    To convince people to eat ‘designer’ eggs and egg substitutes.             

39. According to the passage, which of the following is a cause of heart diseases?
A. minerals        

B. cholesterol      
C. canola oil           
D. vitamins

40. What has been the cause for changes in the sale of eggs?
A. increasing price                                                      
B. decreased production   

C. dietary changes in hens                                          
D. concerns about cholesterol

41. What is meant by the phrase ‘mixed result’?
A. The result are blended 



B. The result are a composite of things

C. The result are inconclusive                  

D. The result are mingled together

42. According to the author, which of the following may reduce blood cholesterol?
A. reducing egg intake but not fat intake     

B. increasing egg intake and fat intake

C. decreasing egg intake and fat intake        

D. increasing egg intake but not fat intake

43. Which of the following could best replace the word ‘somewhat’?

A. in fact        


B. a little      

C. indefinitely            
D. a lot

44. According to the passage, one yolk contains approximately what fraction of the suggested daily limit for human consumption of cholesterol?   


A. 3/4        
              
B. 2/3      
           
C. 1/2           
           
D. 1/3

45. The word ‘portrayed’ could best be replaced by which of the following?

A. studied        


B. destroyed     
C. tested           
D. described

46. What is the meaning of ‘back up’?    

    
A. reverse                     

B. advance                 
C. block                      D. support

47. According to the passage, egg substitutes cannot be used to make any of the following types of eggs EXCEPT____.? 

  
A. boiled        


B. poached      

C. scrambled           
D. fried

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
48. Smiles arid grimace can be very effective used in conversation, but more commonly, we do not tend 

                     A                                          B                                                        C                                D

to think that nonverbal physical response may be communicating.

49. I believe that only very self-confident, knowledge and attentive students will prefer 100% of 

                                   A                                       B                                                    C

eye contact time.

           D

50. The proportion of women spend 30 hours a week or more on unpaid housework fell to 19.8 per cent  

                      A                            B                                                C                                    D                                                                                                                                                                                                                                                                         

in 2006 from 24.6 per cent in 1996.

51. Reading can be a way to escape from a bad day, a way to self- entertain, and a tool which students

                        A                    B                                                           C

 can use to succeed for many other subjects.

                                 D
52. Although to some people reading is a favored way to spend time, but others just do not like reading. 
                              A                              B                                                    C                                     D               

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
53: "Don't be such a pessimist. I'm sure you'll soon get over it. Cheer up!"

A. hobbyist


B. optimist


C. activist

D. feminist

54: "Be quick! We must speed up if we don’t want to miss the flight."

A. turn down            

B. look up        

C. put forward 
D. slow down           

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 55 to 64.

Before the mid-nineteenth century, people in the United States ate most foods only in season. Drying, smoking and salting could preserve meat for a short time, but the availability of fresh meat, like that of fresh milk, was very limited; there was no way to prevent spoilage. But in 1810, a French inventor named Nicolas Appert developed the cooking-and-sealing process of canning. And in the 1850’s an American named Gail Borden developed a means of condensing and preserving milk. Canned goods and condensed milk became more common during the 1860’s, but supplies remained low because cans had to be made by hand. By 1880, however, inventors had fashioned stamping and soldering machines that mass-produced cans from tinplate. Suddenly all kinds of food could be preserved and bought at all times of the year.

Other trends and inventions had also helped make it possible for Americans to vary their daily diets. Growing urban population created demand that encouraged fruit and vegetable farmers  to raise more produce. Railroad refrigerator cars enabled growers and meat packers to ship perishables great distances and to preserve them for longer periods. Thus, by the 1890’s, northern city dwellers could enjoy southern and western strawberries, grapes, and tomatoes, previously available for a month at most, for up to six months of the year. In addition, increased use of iceboxes enabled families to store perishables. As easy means of producing ice commercially had been invented in the 1870’s, and by 1900 the nation had more than two thousand commercial ice plants, most of which made home deliveries. The icebox became a fixture in most homes and remained so until the mechanized refrigerator replaced it in the 1920’s and 1930’s.

Almost everyone now had a more diversified diet. Some people continued to eat mainly foods that were heavily in starches or carbohydrates, and not everyone could afford meat. Nevertheless, many families could take advantage of previously unavailable fruits, vegetables, and dairy products to achieve more varied fare.

55: What does the passage mainly discuss?

A. Causes of food spoilage






B. Commercial production of ice

C. Population movements in the nineteenth century

D. Inventions that led to changes in the American diet

56: The phrase “in season” in line 1 refers to ________ .

A. a particular time of year



B. a kind of weather          

C. an official schedule  



D. a method of flavoring

57: During the 1860’s, canned food products were _________ .

A. unavailable in rural areas     


B. available in limited quantities       

C. shipped in refrigerator cars                        
D. a staple part of the American diet.

58:  It can be inferred that railroad refrigerator cars came into use _________ .

A. before 1860    

B. before 1890     
C. after 1900    

D. after 1920

59: The word” them” in line 12 refers to _________ .

A. refrigerator cars     
B.growers        
C. perishables
             
D. distances.

60: The word” fixture” in line 16 is closest in meaning to _________ .

A. commonplace object 
B. substance     
C. luxury item              
D. mechanical device

61:The author implies that in the 1920’s and 1930’s home deliveries of ice _________ .

A. increased  in cost           



B. occurred only in the summer

C. decreased in number     



D. were on an irregular schedule

62: The word “ Nevertheless” in line 19 is closest meaning to _________ .

A. occasionally      
            B. however                 
C. therefore   


D. because      

63: Which of the following types of food preservation was NOT mentioned in the passage?

A. Drying 

            B. Chemical additives
         C. Canning        

D. Cold storage     

64: Which of the following statements is supported by the passage?

A. Most farmers in the United States raised only fruits and vegetables.

B. People who lived in cities demanded home delivery of foods.

C. Tin cans and iceboxes helped to make many foods more widely available.

D. Commercial ice factories were developed by railroad owners

SECTION B (2 points)

I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it. Write your answers on your answer sheet.
65: The school I studied at last year was better than this one.

> This school isn’t __________________________________________________________________
66: The film star wore dark glasses so that no one would recognise him.

> The film star avoided ________________________________________________________
67: He is very poor. He can’t buy a second hand bike.

> He is so ___________________________________________________________________
68: It rained heavily, so he didn’t go to school.

> Had  __________________________________________________________________
69: No one has used that door for 20 years.

> That door __________________________________________________________________
II. In about 140 words, write a paragraph about the measures of protecting  endangered animals. 
   The following prompts might be helpful to you. 

- introducing the Red List 

- enacting laws

- establishing wildlife habitat reserves 

- .........
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